Ecology Final Test
Fill in the Blank Questions


1. Herbivores are

A. First-level consumers

B. Producers

C. Second –Level consumers

D. Decomposers

2. The first organisms to invade a formerly lifeless area are known as

A. The dominant species

B. A climax community

C. First-level consumers

D. Pioneer organisms

3. Tropical rain forests are generally located 

A. North of the tundra

B. Around the equator

C. North of the taiga

D. on high altitude levels of mountains

4. The amount of sunlight striking a given area on the Earth’s surface depends on 

A. Latitude 

B. Temperature

C. Soil conditions

D. Altitude

5. The reason for the changing seasons on the Earth is due to 

A. Latitude 

B. Inclination

C. Altitude

D. Logitude

6. A large geographic region showing a particular type of climax community is a 

A. Lithosphere

B. Biome

C. Population

D. Hydrosphere

7. Temperate grasslands and temperate deciduous forests are two different biomes that are located in the same latitudes. Which one of the following abiotic conditions is most likely to account for the differences in their community composition? 
A.
 temperature
B. precipitation
C. sunlight
D. soil nutrients
E. a rain shadow

8. The orbit of Earth's revolution around the sun is inclined at an angle of 23.5(, and this causes seasonal variation in the amount of solar energy reaching a given region. Which of the following does not differ for the tropics and polar regions? 

A. angle of incidence
B. total hours of possible sunlight per year
C. mean annual air temperature

D. solar energy input during the month of July
E. annual variation in day length

9.     Photosynthesis changes 

A.
sugar into CO2 present in the atmosphere.

B.
CO2 into O2 present in the atmosphere.

C.
N2 into CO2 present in the atmosphere.

D.
 CO2 into N2 present in the atmosphere.

E.
      sugar into O2 present in the atmosphere.

10.
In this relationship, one organism serves as a host to another organism, usually to the host's disadvantage. 


A.
predation

B.
parasitism

C.
mutualism

D.
commensalism

E.
symbiotic
11. Which of the following choices best describes the relationship that exists between photosynthesis and cellular respiration? 

A.
Photosynthesis captures and stores carbon from the atmosphere. Cellular respiration releases carbon back into the atmosphere.

B.
Photosynthesis captures and stores carbon from the atmosphere as does cellular respiration.

C.
Photosynthesis releases carbon into the atmosphere. Cellular respiration captures and stores carbon from the atmosphere.

D.
Photosynthesis releases carbon into the atmosphere as does cellular respiration.
12.
A relationship, which occurs when one member of the relationship is neither helped nor harmed and the other member derives some benefit, is called 


A.
predation.

B.
parasitism.

C.
mutualism.

D.
commensalism.

E.
sympatric.

13.
A relationship in which both members benefit is called 


A.
predation.

B.
parasitism.

C.
mutualism.

D.
commensalism.

E.
sympatric

14.
Communities evolve to have greater biomass and species richness in a process called 


A.
sympatric interactions.

B.
adaptive modifications.

C.
succession.

D.
symbiotic relationships.

E.
competitive exclusion.

15.
Organisms that break down organic matter are called 


A.
detritivores.

B.
omnivores.

C.
herbivores.

D.
carnivores.

16.
The pattern of living or the function of an organism in a community is called its 


A.
niche.

B.
habitat.

C.
hierarchy.

D.
speciation.

E.
predation.
17.
The actual niche the organism is able to occupy in the presence of competitors is called its 


A.
fundamental niche.

B.
realized niche.

C.
interference niche.

D.
intraspecific niche.

E.
exploitative niche.

18.
Competition between individuals of a single species is called ____________ competition. 


A.
interspecific

B.
exploitative

C.
interference

D.
fundamental

E.
intraspecific

19.
In class we learned  that if two species attempt to occupy the same niche, with limited resources, one of them will become 


A.
a commensalist.

B.
parasitic.

C.
a predator.

D.
extinct.

E.
symbiotic.

20.
Animals defend themselves against predators by all of the following except 


A.
warning coloration.

B.
cryptic coloration.

C.
chemical defenses such as poisons and stings.

D.
parasitism.

E.
aposematic coloration.

21.
Insects that feed on milkweed plants are generally brightly colored. Such coloration is called 


A.
Batesian mimicry.

B.
apoptosis.

C.
cryptic coloration.

D.
warning coloration.

E.
Müllerian mimicry.

22.
Some insects that lack any specific chemical defenses blend with their environment to avoid predators. This type of defense strategy is called 


A.
Batesian mimicry.

B.
apoptosis.

C.
cryptic coloration.

D.
warning coloration.

E.
Müllerian mimicry.

23.
All of the following are types of symbiosis except 


A.
commensalism.

B.
camouflage.

C.
predation.

D.
parasitism.

E.
mutualism

24.
If in a relationship the organism growing on the host benefits, and the host is unharmed, the relationship is called 


A.
parasitism.

B.
mutualism.

C.
commensalism.

D.
tolerance.

E.
predation.

25.
Insects that lay eggs on living hosts are called 
A.
ectoparasites.

B.
endoparasites.

C.
brood parasites.

D.
parasitoids.

E.
predators.

26.
A symbiotic relationship in which both organisms benefit is 
A.
parasitism.

B.
mutualism.

C.
commensalism.

D.
tolerance.

E.
predation.

27.
Succession happens because species in the habitat alter that habitat in ways that assist other species. There are three dynamic concepts that are of critical importance for succession to take place. They are 
A.
facilitation, inhibition, and tolerance.

B.
symbiotic relationships, facilitation, and aposematic coloration.

C.
mimicry, coevolution, and competitive exclusion.

D.
competition, climax communities, and tolerance.

E.
competition, inhibition, and coevolution.

28.
Secondary succession takes place in all of the following except 


A.
an abandoned agricultural field.

B.
an area burnt off by a fire.

C.
an area exposed by a melting glacier.

D.
an abandoned landfill.

E.
a pile of cow manure ("cow flop.")

29.
A species that interacts in critical ways with many other elements of an ecosystem is called a ___________ species. 


A.
predatory

B.
keystone

C.
primary

D.
dominant

E.
succeeding
30.
Lakes become eutrophic by 


A.
accumulation of organic matter.

B.
loss of organic matter.

C.
circulation of water in the lake.

D.
free exchange of water with outside sources.

E.
an decrease in the number of organisms.
31.
Primary succession can occur on all of the following except a(n) 


A.
bare surface.

B.
rock.

C.
area sterilized by a lava flow.

D.
fire-ravaged soil.

E.
lifeless substrate.

32.
Which of the following feed directly on the green plants? 


A.
primary producers

B.
primary consumers

C.
secondary consumers

D.
secondary producers

E.
decomposers

33.
Which of the following gases in the atmosphere appears to be changing the global climates? 


A.
ozone

B.
water vapor

C.
carbon dioxide

D.
hydrogen

E
.    oxygen

34.
All of the following are true about ecosystems except 


A.
they contain both living and nonliving components.

B.
there is a transfer of energy through the system and it is lost.

C.
there is a cycling of nutrients through the system again and again.

D.
the ultimate source of energy is the sun for nearly all known ecosystems.

E.
they represent the lowest level of biological organization that is known.

35.
All of the following undergo biogeochemical cycles except 


A.
carbon.

B.
energy.

C.
nitrogen.

D.
sulfur.

E.
water.

36.
The fraction of Earth's surface covered by oceans is about 


A.
1/10.

B.
1/4.

C.
1/3.

D.
1/2.

E.
3/4.

37.
Even though nitrogen constitutes 78% of Earth's atmosphere, the amount available for living things nearly all comes from 


A.
a few groups of nitrogen-fixing bacteria.

B.
the breakdown of minerals.

C.
a few genera of detritivores.

D.
the breakdown of dead plants.

E.       nitrogen-containing fertilizers.

38.
The form of nitrogen most likely to be absorbed from the soil by plants is 


A.
nitrogenous wastes.

B.
nucleic acids.

C.
nitrogen gas.

D.
nitrous oxide gas.

E.
nitrite/nitrate ions.

39.
Which of the following biogeochemical cycles contain a mineral component? 


A.
phosphorus

B.
carbon

C.
nitrogen

D.
oxygen

E.
water

40.
Which of the following contain no species that are autotrophs? 


A.
Bacteria

B.
Protista

C.
Plants

D.
Archaea

E.
Fungi

41.
The net weight of all of the organisms living in an ecosystem is its 


A.
productivity.

B.
biomass.

C.
vital force.

D.
photosynthesis minus metabolism.

E.
combined output of metabolism and photosynthesis.

42.
The organisms that live on the refuse of an ecosystem are called 


A.
autotrophs.

B.
carnivores.

C.
denitrifiers.

D.
detritivores.

E.
herbivores.

43.
Which one of the links in the food chain shown below does the cricket represent?

grass—cricket—garden spider—blue jay—red-tailed hawk 


A.
producer

B.
primary producer

C.
primary consumer

D.    secondary consumer

E.
tertiary consumer

44.
Which one of the links in the food chain shown below is the producer?

grass—cricket—garden spider—blue jay—red-tailed hawk 


A.
grass

B.
cricket

C.
garden spider

D.
blue jay

E.
red-tailed hawk

45.
In a pond ecosystem, a crayfish feeds on three species of algae. It in turn is preyed on by one species of fish and a heron. The heron also preys upon the fish. What is the minimum number of food chains in this food web? 


A.
2

B.
3

C.
4

D.
5

E.
6

46.
Which would not be an expected long-term change during primary succession on glacial moraines? 


A.
increase in species richness

B.
increase in soil depth

C.
increase in pH

D.
increase in soil nitrogen

E.
alder crowded out by spruce

47.
Which one of the following statements correctly defines the concept "ecotone" and describes its importance in the debate over what determines the makeup and functioning of communities? 


A.
An ecotone is a place where the environment changes abruptly and that some plant communities are distinct in adjacent areas supports the individualistic concept of communities.

B.
An ecotone is a place where the environment changes abruptly and that some plant communities are distinct in adjacent areas supports the holistic concept of communities.

C.
An ecotone is a place where the environment changes gradually and that some plant communities are distinct in adjacent areas supports the individualistic concept of communities.

D.
An ecotone is a place where the environment changes gradually and that some plant communities are distinct in adjacent areas supports the holistic concept of communities.

E.
An ecotone is a place where the environment changes abruptly, but the communities living in adjacent areas do not. This supports neither the individualistic nor the holistic concepts.

48.
 Fall leaf color on deciduous trees is a result of 

A. the production of more accessory pigments because of the cooler temperatures.

B. the reduction in the production of accessory pigments because of the cooler temperatures.

C. cessation of chlorophyll production, which becomes clear, and  allows the accessory pigments to be revealed.

D. the increased angle of the sun during the fall, which reflects more of the accessory pigments causing the human eye to see the red, yellow, and orange colors that were masked by the green chlorophyll.
49.
The dark reactions of photosynthesis are those that 

A. convert chlorophylls into enzymes.



B. convert enzymes into chlorophylls.
C. convert water into hydrogen and oxygen.

D. convert CO2 into molecules of sugar.

E. only occur in the dark.
50.
A group of individuals of a single species living together is a 


A.
deme.

B.
phenotype.
C.
genome.

D.
biotic community.

           E.      population.

51.
Organisms such as lizards that need to maintain body temperature through external means do so by 


A.
shivering to produce heat.

B.
sunbathing.

C.
swimming in geothermal pools.

D.
running frequently to warm up.

E.
eating large meals to provide calories for heat production.

52.
A small group of mice are released on an island without mice but with abundant food for mice and no predators. Initially, the growth of the mouse population will be limited mainly by 
A.
the carrying capacity.

B.
its birth rate.

C.
its biotic potential.

D.
only density-dependent factors.

E.
only independent-dependent factors.

53.
A small group of mice are released on an island without mice but with abundant food for mice and no predators. When the population stabilizes 


A.
the birth rate is zero.

B.
the birth rate plus the death rate is zero.

C.
the population has reached its biotic potential.

D.
the population size equals the carrying capacity.

E.
the intrinsic rate of increase is zero.

54.
A small group of mice are released on an island without mice but with abundant food for mice and no predators. After the population size stabilizes for several years, a hurricane drastically reduces it, we can now say that 


A.
the biotic potential of the population has been reduced.

B.
its new population size is a result of density-dependent regulation.

C.
its new population size is a result of density-independent regulation.

D.
it can now act as a sink metapopulation.

E.
it can now act as a source metapopulation.

55.
A community and the nonliving factors with which it interacts is called a(n) 


A.
population.

B.
race.

C.
cline.

D.
environment.

E.
ecosystem.

56.
Clumped or patched populations that undergo local periodic extinction and recolonization are called 


A.   randomly spaced populations.
B.   uniformly spaced populations.    C.  metapopulations.

D.   over sized populations.

E.   endangered populations

57.
The number of individuals of a species that can be supported indefinitely in a particular place is called its 


A.
niche.

B.
biotic potential.

C.
carrying capacity.

D.
maximum size.

E.
habitat usage.
58.
All of the following apply to density-dependent factors except that they 


A.
affect the size of the population.

B.
act to regulate population growth.

C.
ultimately cause adaptation as competition for limiting factors increases.

D.
are especially important in K-selected populations.

E.
never involve biological interactions.

59.
Density-independent factors do not include 


A.
weather.

B.
earthquakes.

C.
intraspecific competition.

D.
volcanism.

E.
introduction of non-native species.

60.
Which of the following is not dependent on sunlight as a source of energy? 


A.
tundra

B.
taiga

C.
neritic zone

D.
benthic zone

E.
pelagic zone

61.
The cold lower regions of large lakes is called 


A.
thermocline.

B.
epilimnion.

C.
hypolimnion.

D.
eutrophication.

E.
oligotrophication.
62.
A good average value for the amount of organic matter that reaches the next trophic level is about 


A.
20%.

B.
10%.

C.
5%.

D.
2%.

E.
1%.

63.
Characteristics of eutrophic lakes include all of the following except 


A.
waters richer in oxygen content.

B.
they have greater depths.

C.
they have very clear blue water.

D.
they are highly susceptible to pollution.

E.
they are nutrient-rich.

64.
The major cause of thinning of the ozone layer was attributed to 


A.
greenhouse gases.

B.
nitric and sulfuric acids.

C.
chloroflourocarbons.

D.
phosphorus.

E.
water vapor

65.
The most serious and rapidly accelerating of all global environmental problems is the loss of 


A.
biodiversity.

B.
fossil fuels.

C.
fresh water.

D.
unused land for agriculture.

E.
small farms.

66.
Which of the following gases is most associated with global warming? 


A.
oxygen

B.
ozone

C.
nitrous oxides

D.
carbon dioxide

E.
chlorofluorocarbons

67.
Biological magnification of persistent toxins should be greatest in 


A.
herbivores.

B.
primary carnivores.

C.
secondary carnivores.

D.
detritivores.

E.
keystone species.

68.  A molecule that stores energy by linking charged phosphate groups near each other is called 

A. ATP.

B. NADH.
C. FADH.
D. cyclic AMP.
E. pyruvate.
69. The aerobic cellular respiration occurs in the 

A. cytoplasm.
B. Golgi body.
C. ribosome.
D. mitochondrion.
E. nucleus.
70. In the light dependent reaction is the electron donor is a result of energy breaking apart the__ molecule.

A. carbon dioxide.
B. oxygen.
C. RuBP.
D. chlorophyll II.

E. water.
 Essay:
1. Why are wetlands needed for the ecosystem? (5pts)

2.  Draw or write a food web with 4 trophic levels. Make to include 3 different food chains and  show the flow of energy through the web. Also show how eah chain is linked. (6 pts.)

3.  Explain the nitrogen cycle as done in class. You can do so with words or have a drawing and explain the drawing. (8pts)
4. What is the reason why water becomes less dense as it freezes? (4pts)
5. Why is it beneficial for evergreen trees to keep their needles all year? (3pts)

6. Give the main types of symbiotic relationships and give an example of each. (6pts)
7. Explain what is Batsian Mimicry and Mullerian Mimicry.(4pts)

